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Teaching Philosophy Statement

The guiding principle of my teaching philosophy is to promote active learning. Based on my
own experience as an undergraduate and a 10-year one-on-one tutor, I have found that students
retain material more effectively if they are actively participating and completing hands-on
exercises, rather than passively listening to lectures and taking notes. Active learning not only
boosts enthusiasm and interest, but also develops critical thinking and public speaking skills that

are important for success both during and after college.

To facilitate participation during discussion sections, I employ cold calling, a pedagogical
technique where instructors randomly call on students to answer questions without waiting for
volunteers. The issue with waiting for volunteers is that participation almost always stagnates,
with everyone sitting in tense silence, hoping that someone else will raise their hand. By contrast,
cold calling normalizes in-class engagement, with most students participating at least once in
every session. Everyone is incentivized to be as attentive as possible, knowing that they could be
called on at any point. An added benefit is that I can memorize everyone’s names very quickly
(by the second week of the quarter), thus developing a rapport with students and fostering an

environment where they feel more comfortable reaching out for extra help.

For LIN 103A (“Linguistic Analysis I: Phonetics, Phonology, Morphology™), I created
my own set of slides, handouts and problem sets for each discussion section (for details, see

aokinb.github.io/course materials.html). The presentations largely shared the same format — I



would first show students how to do a practice problem, and then call on one person or a small
group to write the answer to a related homework question on the blackboard. If they gave the
correct response, [ would ask them to explain their reasoning out loud, and if they didn’t know
the answer, I would verbally walk them through the problem. Although this method of teaching
is time-consuming and might sound intimidating, I observed that many students seemed more
comfortable participating as the quarter progressed. Moreover, discussion attendance was
significantly correlated with better performance on the exams and weekly assignments, and
students who began attending discussion mid-quarter saw their grades go up several letter grades

(e.g., several students went from receiving Fs to As on assignments).

Fifty-minute discussion sections go by quickly, with some students needing more time to
grasp the material. To support students outside of discussion, I responded to dozens of student e-
mails (see Figure 1 below), provided 6 office hours per week (5 more per week than is required),
and offered a 9am-5pm office hour session on the Monday of finals week, when the final paper
was due. I not only graded weekly assignments for each of the 66 students in the class, but I also
wrote detailed comments that were formatted as personalized letters and provided step-by-step
explanations for questions that were missed (see Figure 2 below). Finally, during the Monday
lecture of Week 10, the instructor gave me the opportunity to run an 80-minute review session

for the final exam, for which I prepared 3 hands-on worksheets.

In summary, as the TA for LIN 103A, I endeavored to promote active learning in a
demanding, but supportive atmosphere. As a young educator, there are still many skills that I am
still trying to learn and hone. However, I remain committed to my teaching philosophy — I
believe that the critical thinking and public speaking skills that students develop in my discussion

sections will benefit them in the long-term, regardless of their future career path.
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Hello Nick
I'm a little confused for the first part of the homework involving the masculine and feminine forms. It says there should only be one rule necessary but if there's an [a] getting deleted/added depending on the form
but the final consonant is also changing in the left column wouldn't that be two rules? Also, for the [a], it seems to me that it's added/deleted depending on whether the word is masculine or feminine. As a feature |
don't know how | would write that. Some clarification would be much appreciated, thank you!
Sincerely,
Nicholas Aoki <nbacki@ucdavis.edu> Sat, Nov 16,2024, 8:25PM ¢ € H
ol -
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This is an excellent question!

The distinction between these two alternations (adding [-a] to go from the masculine to feminine form, changing the final consonant in the masculine form) is that the first is arbitrary and the second is rule-
governed.

All languages consist of both arbitrary and rule-governed components. For example, in English, there is no specific reason why the underlying morpheme /-z/ changes nouns from the singular to plural forms. In an
alternate universe, this same morpheme could have been used to change nouns from their plural to singular forms (i.e., singular = "apples”, plural = "apple”). Or perhaps a different morpheme might have been
selected (e.g., /-v/; singular = "apple”, plural = "applev"). For the most part, the precise ing form of a is arbitrary and varies signi across (eg. garian uses the suffix
/K to pluralize nouns, Japanese has no singular/plural distinction, etc.).

However, how a changes into its is rule-g¢ ed and iti by a particular environment. The English plural morpheme /-z/, for instance, only turns into
[-s] when the preceding sound is a non-strident voiceless consonant. This type of devoicing rule (i.e., changing voiced sounds into their voiceless counterparts) is highly common across languages and thus tells us
more about the structure of language.

Returning to your original question about the first data set on Homework 5, the fact that the suffix [-a] changes nouns from their masculine to fem
been switched to "singular” and “plural® or to *first person™ and “third person®. What is not arbitrary (and therefore must be characterized by a rule) is the change in the final consonant of the masculine form (i.e.,
why does the [2] in [kostoza] become [s] in [kostos]?).

ine forms is essentially arbitrary. The column labels could have

Hope this helps! Please let me know if you would like me to clarify anything or have any other questions.

Nick

Figure 2
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Good work on Homework 5! Please see my comments below for an explanation of where | deducted points.

This is by far your best assignment submission yet! | encourage you to keep attending future discussions.

Nick

POINTS LOST - SUMMARY:
-QL6/8
-Q6:1/4
Q7:5/6
-Q8:4/6
-Q9:35/6
-Q10:3.5/4
POINTS LOST - EXPLANATION:
1.[Q1] I think you may have just made some typos here. Since "forgetful” and "warm" are on the right-hand side of the data set, their underlying forms end in voiceless consonants (ie., /dens/ and /kalent/, not /denz/ and /kalend)
2.(Q6) 1 am deducting 3 points here, 1 point for a minor error and 2 points for a more significant omission.
The 1-point deduction is for the selection of the underlying form. Although it is true that the underlying form contains a nasal, you could be more precise, stating that /ren/ is the more likely underlying form (as opposed to /ran/, for instance).

The 2-point deduction is because there is no justification about why a particular underlying form is selected. In this data set, [raen)] appears before the vowel [a), the glottal fricative [h], and the velar stop [g] (see the words [raenandon] for “invite", [raenhetan] for
“count’, and [raengombor] for “draw a picture”). These sounds are quite disparate and difficult to group together with a particular set of features. Therefore, [raen] seems to appear in  highly nrestricted set of environments, and is thus the most likely underlying form.

3.[Q7) Your rule is nearly correct! However, vowels are also [+sonorant], so you need one more feature ([-syllabic]) to specify “sonorant consonant’”
[+nasal] = @ / __ [-syllabic, +sonorant]

4.[Q8) Your rule is here is pretty close, but note that "+consonant” is not a feature. It is also not quite true that assimilation occurs to “match the following consonant’. In particular, the word [rnhetan] ("count")is an example where the velar [n] does not share place
of articulation with the following glottal consonant [h).

It seems that [n] is assimilating to the following consonant for only the sounds [g]. [d), [b], (@], (K], [t], [p]. and [§). These are all stops and affricates, which are all non-sonorant consonants ([-syllabic, -sonorant]). Therefore, we can write the following rule:
[0] = [aPlace] / __ - syllabic, - sonorant, a Place]
5.(Q9) There are 2 errors here, one of which is minor (-0.5 points) and one of which is more significant (-2 points).

5a. The more significant error is that [+stop] is not a feature (please remember to go to the Pheatures Spreadsheet to see what is considered as a feature!). Voiceless stops are characterized by the following feature set: [-voice, -delayed release]

5b. Amore minor error is that, by not including the *+" symbol to the right of the slash, you are claiming that this voiceless stop deletion rule will occur in all parts of the word. However, there is a "help’), where stop [t]is not
deleted after the nasal [n),

The key here is that the [nt] cluster occurs in the stem of [raembonta), not at a morpheme boundary. We therefore have to specify that the voiceless stop deletion rule is limited to the prefix boundary by including the *+* symbol:
[-voice, -delayed release] --> @ / [+nasal] + __

6.1Q10) The explanation of the rule ordering is very thorough here! The only issue s that ordering actually does not matter for the nasal deletion rule. Since nasal deletion only occurs before [+sonorant] sounds and nasal place assimilation only occurs before [-
sonorant] sounds, these rules do not interact

Nicholas Aok, Nov 19, 2024 at 12:11pm




